
Fyzika laserů – cvičenı́
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Řı́dı́cı́ rovnice ve Schrödingerově reprezentaci
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S(t)
∂t

e(i/~)ĤS(t−t0)
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ĤS , %̂S

S(t)
�
−

−e−(i/~)ĤS(t−t0)
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ĤS , %̂S

S(t)
�
−

−e−(i/~)ĤS(t−t0)
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−e−(i/~)ĤS(t−t0)
hX

i,j

δ(ωi + ωj)
n�

Q̂S
i Q̂S

j %̂I
S(t)− Q̂S

j %̂I
S(t)Q̂

S
i

�
w+ij −

−
�

Q̂S
i %̂I

S(t)Q̂
S
j − %̂I

S(t)Q̂
S
j Q̂S

i

�
w−ji

oi
e(i/~)ĤS(t−t0)
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(i/~)ĤS(t−t0)×

× e−(i/~)ĤS(t−t0)%̂I
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(i/~)ĤS(t−t0)
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j e
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× e−(i/~)ĤS(t−t0)%̂I
S(t0)e
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Řı́dı́cı́ rovnice ve Schrödingerově reprezentaci
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(i/~)ĤS(t−t0)
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